[Effici

ency vs vertpos |

0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.01
0.005

Ja)

&

VS

0.95

1072 107 1 1

0 10?

—=— DQM_TT__mkFit-DQM_orig

Efficiend —— pQm_TT_ mkFit-DQM_mod

0.02

0.018
0.016
0.014
0.012
0.0
0.008
0.006
0.004
0.002
Vel

...........

...........

...........

[y

0.95}

TTTT] T

» o

» o

» o

+
mooooochonoon

> <

> o

s

’s

=%

>«

> o

» o

&

=30 -20 -10 0 10

[Effici

ency vs.sim PV z |

0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.0
0.005

4||||
%
¥
Sy
—+
-
S

............

16 -5 0 5 10 15 20




	Contents
	Page 1


